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1 Introduction
In RAN4#98-bis-e and RAN4#99-e, simulation assumptions for inter-cell MMSE-IRC receiver are agreed [1][2]. In this contribution, we provide some simulation results and our views on some remaining open issues. 
2 Simulation results
The simulation results are based on the table 1 in Appendix. We provides results for different DIP values and different number of interference cells.
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	Figure 1. Simulation results for inter-cell interference MMSE-IRC receiver



The provided simulation results are based on DIP methodology. We prefer to use the same methodology as LTE for inter-cell MMSE-IRC receiver. The interference model for DIP is more straightforward. With DIP methodology, we prefer to use SINR at 70% throughput to define the requirements. Also, to determine the configurations of test cases, we should prevent to choose the configuration with too low SINR at 70% of maximum throughput.   
Proposal 1: Use the DIP methodology for interference profile configuration.
Proposal 2: Define performance measurement point with SINR.
3 Conclusion
The proposals are summarized as below:
Proposal 1: Use the DIP methodology for interference profile configuration.
Proposal 2: Define performance measurement point with SINR.
4 Reference
[1] R4-2106116, “Way Forward on general and PDSCH demodulation requirements for inter-cell interference MMSE-IRC”, Intel
[2] R4-2108664, “Way Forward on general and PDSCH demodulation requirements for inter-cell interference MMSE-IRC”, Intel























Appendix
Table 1. Simulation assumptions
	Parameters
	Serving cell FDD
	Interferer cell(s)

	DIP values
	· Two interference cells, DIP -1.73 and -8.66 dB 
· One interference cell, DIP -1.73 dB 

	
	· Two interference cells, DIP -0.41 and -13.21 dB
· One interference cell, DIP -0.41 dB

	PDSCH allocation in frequency domain
	Full PRB

	Physical cell ID
	0
	1 or 2 (depending on the number of interferer cells)

	Channel bandwidth

	10MHz 
	10MHz or 40MHz (depending on FDD or TDD) 

	TDD configuration
	N/A
	N/A
or
7DS2U(S=6D+4G+4U)

	SCS
	15kHz
	15kHz or 30kHz (depending on FDD or TDD)

	PDCCH allocation in time domain

	symbols #0 and #1 of each slot for PDCCH
	symbols #0 and #1 of each slot for PDCCH

	SSB configuration
	All SSBs (serving cell and interference cell(s)) are in the same time/frequency resources

	TRS configuration
	k0=0 for CSI-RS resource 1,2,3,4
l0 = 6 for CSI-RS resource 1 and 3
l0 = 10 for CSI-RS resource 2 and 4
Density 3, 1 port

FDD: Periodicity 20 slots; Offset 10 for CSI-RS resource 1 and 2; 11 for CSI-RS resource 3 and 4
	Same as Serving cell



	PDSCH configuration
	Type A, Start symbol 2, Duration 12​
	Type A, Start symbol 2, Duration 12​

	PRB bundling size for target PDSCH 
	2
	2

	PDSCH DMRS configuration
	Type 1, 1+1
	Type 1, 1+1

	MCS
	MCS 4 (QPSK, CR=0.3)
MCS 13 (16QAM, CR=0.5)
	16QAM randomly modulated symbols

	Rank
	1
	random rank with 70% and 30% probability for rank 1 and rank 2 transmission in the interfering cell(s)


	PDSCH precoder for both serving cell and interferer cells
	Random precoding with single panel type I codebook per slot and per PRB bundling granularity, with PRB bundling size of 2

	Antenna configuration
	2x2, 2x4

	Antenna Correlation
	ULA Low

	Propagation condition
	TDLA30-10

	Number of HARQ Processes
	4
	N/A

	Maximum HARQ transmission
	4
	N/A
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